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A TABLE

Shewing the greatest Eastern or Western Azimuths of a, Ursee Minoris (Polaris,) for the 15th day of each month in the
year 1852, to the nearest Second of a Degree ; and calculated for each Minute of Latitude, from the 43rd to the 47th Degree |
North inclusively; together with the reduced Polar distances of the Star for each of the above days, and the interval, in time,
from its Meridian passage to the moment of the greatest Azimuth.

Polar Simuths. .
MONTHS. |distances | | | N
Lat. 43°.|Lat.43° 30| Lat. 44°.|Lat. 44° 30’| Lat. 45°.|Lat.45° 30"| Lat. 46°.| Lat. 46°30’| Lat. 47°. | =
l

e "‘Q ’ " o ’ " o ’ 1) I' Q ’ »» o ’ " Q ] " Q * ” o ’ ” Q 9 " 3
January,.............| 1283212 1 4| 2 2 4|2 3 5| 2 4102 515| 2 619 (2 728 | 2 838 (2 950 | =
Febroary............) 128352 1 8| 2 2 812 3 9| 2 4142 519| 2 623 (2 732| 2 842(2 954 | @
March.....c.........| 128 42/12 1181 2 218 12 319 | 2 424 |2 529| 2 63¢ (2 743 | 2 853|210 5 | O
April.....oereveee.| 128 5212 131 | 2 23212 333 2 43712 542| 2 64812 757| 2 9 7121019 | @
May....coceeeennnn.. 12) 0[2 142 2 242 |2 344| 2 4482 553 | 2 7 0(2 8 9| 2 91921031 | >
June.....cooeeeeee...{ 129 4|2 148 | 2 248 (2 350 | 2 454 (2 559 | 2 7 612 815| 2 925 |2 10 37 o
July.ooooiiiennn| 129 212 145 | 2 245|2 347 | 2 451 (2 556 | 2 7 3|2 812 2 922021034 | 3
August............... 12856(2 137 | 2 2382 339 | 2 4432 548 | 2 654 (2 8 3| 2 913%21025 | @
September........... 128462 123 | 2 2232 324 | 2 4292 534! 2 639|2 748 | 2 858 ({21010 | B

October.............. 198352 1 8| 2 2 8|2 3 9| 2 414(2 519| 2 623 (2 732 | 2 842 |2 9 54
November........... 12824(2 053 | 2 1532 254 2 357(2 5 2| 2 6 8|2 716 | 2 826(2 938 | =
December...........; 128162 042 | 2 142 |2 243 | 2 346 |2 451 | 2 557(2 7 5| 2 8152 926 | >
| H.M. 8. H. M. 8. | H, M. 8. l H. M, 8. | H.M.8. | H. M. S. ‘ H. M. 8. H. M. 8. | H. M. 8. g
Interval from Merid. passage, [5 53 25 | 553 19 (55313, 553 7 (553 0| 55254 (55247 | 5 52 41 |5 52 34 =~

Mean diff. of Azimuth for 1 of Lat.| 2 01 l 2 04 ! 2 14 2 17 ! 2 19 ! 2 20 ! 2 33 ! 2 39 !

Explanation.—Opposite the given time and under the Latitude will be found the required greatest Azimuthal distance of Polaris. If there

be any odd Minutes, of Latitude, not at the head of the Table, take the next lesser Latitude, and add to the Azimuth corresponding thereto, the
"0:1.3_“;\0( the given excess of Minutes multiplied into the difference for 1, standing below, rejecting the fractions in such product ; the sum will
zimuth required. i 1\-«- :*‘n.t‘TPw(:il:i:.l:st time from Mﬂ:i.cll'i':t'\. pasafige ndded to, or suotracted from the hour of translt, will show the true
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